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) AHOTES EBIRR BECHY | BECHY |BEE MB35 | BEE FES
R == 7, 280 7, 280 71, 280 71, 280 71, 280
EXIRDTTE TR YN ESS 74, 872 74, 872 74, 872 70, 517
ERE 105. 0% 105. 0% 105. 0% 08. 9%
AEmN DS /\O— B 64.2 64.2 65.5 66.5 63.0
D—oTOREERIC | % |[=@ 79. 6 77.8 73.7 76.5
BT ZHREER ERE 124. 0% 121. 2% 112. 5% 115. 0%
AETNMBEE/N\O— BiE 9,500 9, 500 9,500 9, 500 9,500
J— 2 DR JNNES 6, 981 6, 581 6, 548 7,816
HIFEEK SERRE 73. 5% 69. 3% 68. 9% 82.3%
A6 RS EBIAR BE% FO3 | BEE FE5 | BEs ra5| BECHY
6 BEEZOR BE 41050 41050 41051 41051 T 4T0ELF
THEE M yia S == 674 645 514 470
ERE 56. 6% 62. 8% 90. 6% 100. 0%
B 50 50 55 55 60
HEEESESEER | A |=E& 6] 17 3 50
ERE 122. 0% 34, 0% 78. 2% 90. 9%
A6 TEEG BB BE% o3| BEs Fo5 | BEE Fas| BECHY
T AHBRER |1 TERREDEE B 915 912 908 908LL R 908LL T
BU. gz S NI EZ 913 905 905 908
2lESS ERE 100. 2% 100. 8% 100. 3% 100. 0%
,_ ; BiE 100 100 100 100 100
g&%ﬁﬁw@@ % |=@ 80.0 81,3 7.0 7.0
ERE 80. 0% 81. 3% 74, 0% 74, 0%
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pESE

A HER e E% : TROVEE | STEE | STAE | SiEE | STiEE
- = B 100 100 100 100 100
g@g‘mﬁﬁ%ﬂm@ % |=@ 63.3 58. 8 52.9 3.4
SERRE 63.3% 58. 8% 52.9% 36. 4%
B THER EBRR 2% N5 | BB P3| BB N5 | BB N5
S SRR . L 90.2 90.2 90.2 90. 2 et wioh
RERINSILEE ANNET 93.0 03, 1 89.5 83.6
SERE 96, 9% 96, 8% 100. 8% 107. 3%
NEERES
Biz 7.3 6.6 6.0 5. 3|4. T%&EE LT
ESZYNE- (S % BVADLEE
ET 6.5 6.1 5.7 5.1
SERRE 171 0% 107. 6% 105. 0% 103. 8%
Bz TTIBUR| T.33BLF|  6.975F] _ 6.63L0F 6. 30
AR EER = IETT 5.3 1.94 1.84 3.83
SERRE 131, 3% 132. 6% 130. 6% 142. 2%
_ - =B I B B e e B IR B I B T
FEFMREELS o ® | D10%LELE | D10%ELE  |D10%ELE  [D10%LLE  |D10%LLE
=) ° =& 16.4 15.7 12.8 12.7
SERRE 164. 0% 157. 0% 128. 0% 127. 0%
— rux.‘ﬁlﬁﬁ’ﬁﬁz EBRR BECHY | BECHY |BEE D3| BEE LB
3 S - L |, - - B 101 101 101 101 101
RO o TR =% |28 101 101 101 101
” SERRE 100, 0% 100, 0% 100, 0% 100, 0%
T E3 B BEECHY | BECHY | BECHY | BECHY
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